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(2.5 Hours) [ Total Marks : 75 .
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N.B. (1) All questions are compulsory. Q\(’D
(2) Figures to the right indicate the marks. Q/
(3) Illustrations, in-depth answers and diagrams wiil be appreciated, (){J\
(4) Mixing of sub-questions is not allowed. N
(5) Assume suitable data if needed. Y%
<
. Attempt the following :- (any THREE) 5 15
(A) Describe any five operating system services. X
(B) Compare Layered based Approach and Kernel based Approac.@/
L) Describe Multiprocessor Systems and its advantages. Q-O
(D) What is a system call? List out the File Management @%‘Dcvicc Management
System calls.
O
E) WhatisaPCB? Discuss the information ass&cg{'cd with a PCB.
(F) Describe the Operations on process. %C)
&
S
‘2. Attempt the following :- (any THREE) "
(A) Describe Indirect Conunuly'(c?ﬁon Message Passing System? 15
\\} vaaci>a litucau: unuu%{l?lc Multithreading Models.
(C) Explain process sclﬁflg?ing with the help of a Queuing diagram.
. v
{(®) Describe Sem res and Operations performed on it? What is a Binary
semaphore?
) . | |
(B9 What 15(5‘5(1(:31 section problem? Describe the requirements to the solution
of cr,Q‘gc\E'i section problem.
) ﬂgms'idcr the following set of processes, with the length of CPU - burst time
<41 milliseconds.
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Mustrate the execution of the processes 15i
Draw Gantt chart. Also calculate the average
time for the processes.

8 Attempt the fol] owing :- (any THREE)
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Priority
I (Highest)
3 (Lowest)

ng Priority (preemptive) schedul
waiting time and average turn aro

(A)  Discuss the solution to Dining philosopher’s problem using HK’@K‘." ;

S«@) Discuss Segmentation as 4 nemory management sche

(®) Discuss the techniques of Recovery from dead]oc@\

@
(E) Explain with diagram the steps in handling a pa@d fault.

(F) _For the following page reference sirj
using LRU page replacement algorith

string = 1,2,3,4,2,5,6,2,3,2. c.:)C

4, Attempt the fol] owing :- (any THRE@CD'
(A)  Whatis a file? Discuss the%g;ibutes
(B) Explain the si.nglc-lev&ﬁ@irectory and
(C) Discuss Direct f\é&l‘é{ry Access,
(D) Explain O

(i) Inlr%gDutection

(i) ,Sﬁmn
(E) Dilﬁcuss :
é‘%{% Virus

Q\’“ (2) Denial of Service
?ﬁ
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of'the files,

Two level Directory Structure,

o
ing. ,\Q)\
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ng, Caltulate number of page fay](s
@lh frame size =3 ang Reference
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3
(F) Assume that the disk drive has 300 cylinders, numbered from 0 t0 299. The
drive is currently serving a request at cylinder 110. The pending request O
queue is 100, 40, 120,210, 240, 180 (Assume head movement is in direction Q V
of 299) What is the total distance travelled by the head for ‘SCAN’ disk .\<’3
scheduling algorithms, (\9
\o\\
O
o} Attempt the following :- (any THREE) \é% 15
(&) Explain 5 - State process model diagram and its states, ?\O
B) Describe user threads and kernel threads, Y(_‘JT\

(C) Whatisa Banker’s Algorithm? Explain the data structures nc@gfor it
(D) Discuss the Free-space management Techniques of the di@_g"

' <&
(E) Discuss types of schedules, \X\
}F) Define the following terms : OV\\
(1) First Fit @]
é(,
(2) Best Fit Y\‘
- §
(3) Worst Fit S
(4) External Fragmentation Q'S‘%
(1) Compaction QY*
O
&
Q/O
N/
N
@)
@)
?\
&
N/
<X
N
%.
5
T\‘
Q\E‘N
e
Ki§
cééd-()on. 1 2268-15.

<
e
ﬁ\‘o



